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Indexing

T: C G T G C G T G C T T

C G T G C :  0 , 4  
G C G T G :  3  
G T G C C :  1  
G T G C T :  5  
T G C C T :  2  
T G C T T :  6

Index of T



T: C G T G C G T G C T T

Index of T
C G G G T :  0  
G T C T G :  1  
T G G G C :  2

Indexing subsequences



PatternHunter



Suffix index
G T T A T A G C T G A T C G C G G C G T A G C G G $  
G T T A T A G C T G A T C G C G G C G T A G C G G $  
 T T A T A G C T G A T C G C G G C G T A G C G G $  
  T A T A G C T G A T C G C G G C G T A G C G G $  
   A T A G C T G A T C G C G G C G T A G C G G $  
    T A G C T G A T C G C G G C G T A G C G G $  
     A G C T G A T C G C G G C G T A G C G G $  
      G C T G A T C G C G G C G T A G C G G $  
       C T G A T C G C G G C G T A G C G G $  
        T G A T C G C G G C G T A G C G G $  
         G A T C G C G G C G T A G C G G $  
          A T C G C G G C G T A G C G G $  
           T C G C G G C G T A G C G G $  
            C G C G G C G T A G C G G $  
             G C G G C G T A G C G G $  
              C G G C G T A G C G G $  
               G G C G T A G C G G $  
                G C G T A G C G G $  
                 C G T A G C G G $  
                  G T A G C G G $  
                   T A G C G G $  
                    A G C G G $  
                     G C G G $  
                      C G G $  
                       G G $  
                        G $  
                         $  

T:



T =abaaba 
abaaba 
 baaba 
  aaba 
   aba 
    ba 
     a

a 
  aaba 
   aba 
abaaba 
    ba 
 baaba 

Suffix index

Alphabetical 
order



a 
aaba 
aba 
abaaba 
ba 
baaba 

Suffix index

Querying uses binary search

P = ab



Suffix index
G T T A T A G C T G A T C G C G G C G T A G C G G $  
G T T A T A G C T G A T C G C G G C G T A G C G G $  
 T T A T A G C T G A T C G C G G C G T A G C G G $  
  T A T A G C T G A T C G C G G C G T A G C G G $  
   A T A G C T G A T C G C G G C G T A G C G G $  
    T A G C T G A T C G C G G C G T A G C G G $  
     A G C T G A T C G C G G C G T A G C G G $  
      G C T G A T C G C G G C G T A G C G G $  
       C T G A T C G C G G C G T A G C G G $  
        T G A T C G C G G C G T A G C G G $  
         G A T C G C G G C G T A G C G G $  
          A T C G C G G C G T A G C G G $  
           T C G C G G C G T A G C G G $  
            C G C G G C G T A G C G G $  
             G C G G C G T A G C G G $  
              C G G C G T A G C G G $  
               G G C G T A G C G G $  
                G C G T A G C G G $  
                 C G T A G C G G $  
                  G T A G C G G $  
                   T A G C G G $  
                    A G C G G $  
                     G C G G $  
                      C G G $  
                       G G $  
                        G $  
                         $  

T:

n(n+1)/2 
chars

≈ (n2)/2



a 
aaba 
aba 
abaaba 
ba 
baaba 

Suffix index

5
2
3
0
4
1

SuffixArray(T )

Suffix array is m 
integers long

T =abaaba



6
5
3
1
0
4
2

$
A$
ANA$
ANANA$
BANANA$
NA$
NANA$

Suffix tree Suffix array FM Index

$ B A N A N A
A $ B A N A N
A N A $ B A N
A N A N A $ B
B A N A N A $
N A $ B A N A
N A N A $ B A



6
5
3
1
0
4
2

$
A$
ANA$
ANANA$
BANANA$
NA$
NANA$

Suffix tree Suffix array
≥ 45 GB ≥ 12 GB

FM Index

$ B A N A N A
A $ B A N A N
A N A $ B A N
A N A N A $ B
B A N A N A $
N A $ B A N A
N A N A $ B A

 ~ 1 GB


